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1. BEZEH

S 3R EAHENE, D 32O EOIFRRALIRE U, 2D & 5785 (S, D) @
MEHEMEZEAS. S — D ONBHPNERTEE UTHD/NERIG 5[D] DESE
INZDT kD=2 2 FRET 5.

(S, D) FHNHR/NE TINVIROMNET IV E 725 Z EWFEHI NG, £ZT
(S, D) \T/NE TV & T 5 JRAZFEE (mixed plurigenera) P,,,[D] = dim |[mKg+
aD|+1(m >a) ZE#ETSD. Z=Ks+D &BLLE

PyDl =22 -g4+1=A+1 ZIZTg=g-—1A=22-73 BV
P31[D]=3A—a+1=Q—w+1 DD LD.

ZZTa—45— D% Q= (32 —2D)-Z —37% — 43, w — 35 — D™

2. #— R/

MU (S, D) 1,5 DAFRZFE T2\ & & Hirzebruch BRI Yp O #— M/

(25,C) o Z0REHFRILE LTHONS CHOM/NE T IVOHEEEH) .
C~oAy+eF, TREZHTZD)RE o,e ZED, T HIZC DFFR A %Z K

RIGEWREEZEDTHEAETNODEKEZ REVWHEDLSIHIZ v, vy, -1, &

T3 ZOLE (X, C)DIAT% [oxe, Byv,v,- 1] LEETS. (Ip,0)

D #— FNEDSMFTRDED

e p=0-21>0.B=0%"%be—0c=u>0;B=1R6e—0c—v;=u>0,
:B>1756e— Bo=u>0.

3. Hartshorne &R
2D+0Kg & D £7213 7 & DR FBOFHT» S ERABAERXNF 515, (Hartshorne
DOffi) S EEHEEMA L FXNCTHBDORG LI L 252 5.

= (2C +0Ky)-C £BL & (2D +0Kg)-D =20G— (0 —2)D? i2& D

(0 —2)w — (0 —6)g = 20G — (0 — 2)D? = 0, + pY +2Z. (1)
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ZIZTX=Y"_,1? Y= v, Z2=nY-X.

j:l 70

5%, 0,=0(B-20).
e B#1F/kEB=1T2—-30>0D&& RHy) M5,

e B=1T2—-3c<0D&Z RH(_)E!Z\D5.

25 6, > 0.
RH ) B O EE L =—(2—-30) >0 &8O = (3C +eKy) - C &
fs = L(u+ 1) > 3L >0 %7z L

RHy) #7513 0, > 0. 5B, B=1 DL E B—20 =2¢—30 D T2—30 >0
2

(e—3)w—(e—9)g=2eg— (e —3)D* =05+ (p+u)Y +3Z. (2)
(1),(2), 7 £ % Hartshorne OFR &\ 5.

4. g O w IZ & B
o>8 1 >3 Flde>12,1, >3 BZINETS. Fy=3w—7 2B & &,

F4=;(3(D+3Ks)-D—(D+Ks)-D):(D+4KS)-D.

Theorem 1 XDGFEZFINE LT 3w—10>7 > —1:
1. vV = 3.

(a) [8 * 8; 3t3, 2t2], F4 = 3t3 + 4t2; 3t3 + 4t2 S 9.
(b) [8%9:1], Fy = 8.

2. 141 =4,

(a) [8*8;4t4,3t372t2], F4 = 3t3 +4t2,3t3+4t2 S 9,49— (6t4+4t3 —f-tg) 2 0.
(b) [8%9;44], Fy = 8,4 < 9.

3. 171 =5.

(a) [10%10;57,4], Fy = 5; [10%10;57,4, 3], Fy = 8, ; [10%10;57,4,2], F; = 9,
(b) [10 % 10;57], Fy = 5, ; [10 % 10;57,3], Fy = 8,; [10 % 10;57,2], Fy = 9.

4 1 =6.[12%12:67,5], F, =T,w=4,g=5
5.0 =7 [14%14;77,6], Fy =9,w=5,5=6
6. 1y =7. [14%14:77,6,4], F; = 9,w =3, =0



